p--HA-GST-S6K™3e

-— — a ‘

HA-GST-S6K “-—-—- —— ‘

s | @
[T
S
B t
% GTP: 89 16 90 80 $
GDP—» :
etP—| | -
1B
TSC2 D
TSC1
TSC1/2: - + - +
Rheb Rheb
WT R15G
active inactive n
100 Q
S8 80 )
23 60 g
®c 8 '
T IR 4
20
0
cl & o8& & o
Q Q:&é'\(o o‘-oQ é\\
flag-Rheb
flag-Rheb: -+ + flag-Rheb: - + + H
myc-mTOR: + + + myc-mTOR: + + +
aa: - + - Arg: - +
myc-mTOR % 5 Mmyc-mTOR % =
o K] k-] K]
=7 e
flag-Rheb| - - s flag-Rheb - S
2 2
myc-mTOR & = &= &% TCL MYC-MTOR | s s == TCL
| s 100 J
# 80 o '\&50
2,60 flag-Tsc2: - - & &8
aT 40 myc-mTOR: - + + + +
2 20 GST-Rheb: + + + + +
Qo —_—
0 - [
o G
p--HA-GST-S6KT™38 | D
| - - -
oraca | mrenon]
-
TscC2: - R > GST-Rheb @ == = == == (O
e =
flag-TSC2 - .

V5-TSC2 ‘ - -\

flag-Rheb }- _— - - -‘
Arg: - -

+
+

G+ o+

Figure 4-figure suppl



